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Year 3 Simmering:

1) How many more children play footbadll than

r‘UngO Sport played Number of children

Football . ‘ ‘ ‘ ‘ ‘
Rugby O O O Key
O

Netball 0000 =10 children
2)  Write 682p in pounds and pence.
3)  Divide 48 by 2
4)  Find the sum of 342 and 189
White

Rese




Year 4 Simmering:

L1
v L)
v 'y
\ /
N\
N
N

D Workout 3 X3 XY

2) What is nine multiplied by eight?
3) 12 =+ lis equal to?

4)  Work out 3,924 — |,45I

White

Rese







Arithmetic — Set 5 — Test 2 Arithmetic — Set 5 — Test 2

70 + = 100 60-1=

46 - 16 = 7+ +6=18

16+2= 5x3=




Arithmetic — Set 5 — Test 2

Arithmetic — Set 5 — Test 2

12x2=

O

42 - 20 =

80+ 10=
O
1 mark
20-9=
O
1 mark
36+10=

O

7x3=

O




Arithmetic — Set 5 — Test 2

Arithmetic — Set 5 — Test 2

12 + =20
|
Q
5x5=
|
Q
9+9+ =20

2
2 of21=
1
O
7
17 +82=
1
O
3x3=

1 mark
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Arithmetic — Set 5 — Test 2

Arithmetic — Set 5 — Test 2

66 + 10 =
-
Q
8x10=
-
Q
476 -81 =

96 -31=
O
72 +8=
O
1 mark
4x3=




Arithmetic — Set 5 — Test 2

819 + 74 =
|
Q
394 -98 =
|
Q
55 + = 100

Arithmetic — Set 5 — Test 2

| =
+

v =
[}

32 +




Arithmetic — Set 5 — Test 2

Arithmetic — Set 5 — Test 2

42 +8 =

20+ 4=

7_4
8 8
N
Q
846 + 24 =
|
Q
742 -51=

1
5 of 18 =
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Arithmetic — Set 5 — Test 2

Arithmetic — Set 5 — Test 2

976 - 80 =
|
Q
421 + 150 =
|
Q
36 + 1,000 =

6,432 - 200 =
|
Q
647 +9 =
|
Q
6x12=




Arithmetic — Set 5 — Test 2

Arithmetic — Set 5 — Test 2

72 -8 =
O
1 mark:
14x10=
Q
5,642 - 789 =

346 x2 =
|
11O
4,250 - 700 =
|
11O
4,309 + 24 =




Arithmetic — Set 5 — Test 2

7+89=
|
O
12 x 100 =
|
O
136
7 -7 °

17

5x12=
|
10
1 of75
5 =
|
10
600 + 400 =




Simmering Answers:

1) How many more children play football than

rugbyf) Sport played Number of children

Footbal | @@ @@ @ ¢
fgy | @ @@

Netball OO0 O @ =10 children
2)  Write 682p in pounds and pence. £6 and 82p

3)  Divide 48 by 2 24

4Y)  Find the sum of 342 and 189 53l

White

Rese




Simmering Year 4 Answers
| ashba@k Y

D Workout3 X3 XY 36

2) What is nine multiplied by eight? 72
3) 12 = lis equal to? 12

4Y) Work out 3,924 — 1451 2,473

White

Rese
Maths

Answers *



Qu. | Requirement | Mark
1 30 1m
2 |30 1m
3 |8 1m
4 |59 1m
5 |5 Tm
6 |15 im
7 |8 1m
8 | 1 1m
9 |46 1m
10 | 24 Tm
11 | 22 1m
12 |21 Tm
13 | 8 im
14 | 25 Tm
15 | 2 Tm
16 | 14 Tm
17 |99 im
18 |9 im




** Answers

Qu. | Requirement Mark
1 76 1m
2 80 1m
3 395 1m
4 65 im
5 |19 1m
[.] 12 1m
7 893 1m
8 296 im
9 |45 1m
10 |+ Im
1 30 1m
12 | 8 1m
13 |+ Im
14 | 870 im
15 691 im
16 | 50 Im
17 |5 Tm
18 | 6 Tm




**¥* Answers

Qu. | Requirement Mark
1 896 im
2 571 im
3 1,036 im
& 6,232 im
5 | 656 im
6 72 im
7 9 Im
8 | 140 im
9 | 4853 m
10 | 692 im
11 | 3,550 im
12 | 4333 m
13 | 1519 m
14 | 1,200 m
15 |For1 m
16 | 60 m
17 | 15 m
18 | 1,000 im




